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176, 4" 4 2y = 1* | 2x.

Ecuacion = y'(x) +2-y(x) =x--2 +2-x

Ecuacion = & y(x) +2y(x) ¥ +2x )
q = rhs(Ecuacion)
q:= ¥ +2x )
EcuacionHomogeneaAsociada := lhs(Ecuacion) =0
EcuacionHomogeneaAsociada := % y(x) +2y(x)=0 A3)
SolucionHomogenea = y(x) = C,-exp(-2x)
SolucionHomogenea := y(x) = C, e 2" “)
SolHom = dsolve( EcuacionHomogeneaAsociada)
SolHom = y(x) = e_zx_C] 5)
Comprobacion | := simplify(eval(subs(y(x) = rhs(SolucionHomogenea),
EcuacionHomogeneaAsociada) ) )
Comprobacion, :=0=0 6)
SolucionParticular == y(x) =simplify(exp( -2 x) -int(exp(2 x) -q, x) )
SolucionParticular .= y(x) = - % + % x+ % X @)
Comprobacion,, = simplify(eval(subs(y(x) = rhs(SolucionParticular), lhs ( Ecuacion)
— rhs(Ecuacion) =0)))
Comprobacion, :=0=0 (t))
SolucionNoHomogenea = y(x) =rhs(SolucionHomogenea) + rhs(SolucionParticular)
SolucionNoHomogenea := y(x) = C, e % + % x+ % 'S )
Ecuacion
ay(x) +2y(x) = +2x 10)
Comprobacion, = simplify(eval(subs(y(x) = rhs(SolucionNoHomogenea), lhs ( Ecuacion)
— rhs(Ecuacion) =0)))
Comprobaciony :=0=0 an
Solucion = dsolve( Ecuacion)
Solucion :=y(x) = —% + % x+ % F e cl (12)



